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—FEE0 52—1—8 rhifit S52 AR 2L DK 14,200~ 27,900 Z: N
—FEE0 52—1—16 rhifit S52 AR 2L DK 14,200~ 27,900 Z: N
AYE 5-1-5 R i HO5 3 3DK 20,500~ 40,200 AT
LERE 4-2-21 rhifit HO4 20 3DK 20,200~ 39,600 K
LKk 56—1—8 eh i S56 AR 2LDK 15,100~ 29,800 KT
EXKi# 56—1—16 eh i S56 AR 2LDK 15,100~ 29,800 Z N
##MA 53—1—34 i S53 1P 3DK 14,400~ 28,400 Z N
##H 53—1—36 i S53 2% 3DK 14,400~ 28,400 KT
##ME 51-1-14 i S51 K]\ 3K 12,600~ 24,800 Z N
BHE 59—1—1 eh i S59 1[0 3DK 14,300~ 28,200 Z N
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FHZH] 59—1—16 it S59 A 3DK 18,000~ 35,500 KT
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#E 52—2—295 eh i S52 4 2LDK 17,900~ 35,100 KT
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EAFE 56-1-142 it S56 3fE 3DK 15,500~ 30,500 KT
EALFE 58-1-252 it S58 28 3DK 16,000~ 31,500 KT
TEARES 2-1-502 it R2 508 1DK 12,100~23,700 hzO
TEARES 2-1-107 it R2 1[E 2DK 18,900~ 37,000 hzO
TEARES 4-2-405 it R4 4FE 2DK 19,000~ 37,300 hzO
TEARES 4-2-204 it R4 28 2DK 19,000~ 37,300 hzO
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AERWE2 47-4 S S47 1P 2K 4,400~38,700 (LH
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ByiEE2 44—7 faF S44 10 2K 3,600~7,100 (LH
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